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.DLQ MXPSXWDQ PHUXSDNDQ ZDULVDQ EXGD\D 3URYLQVL 6XPDWHUD 6HODWDQ \DQJ KDUXV
VHQDQWLDVD GLMDJD GDQ GLOHVWDULNDQ� 3HQJHQDODQ EXGD\D ORNDO GDSDW GLODNXNDQ VHMDN
GLQL NHSDGD DQDN PHODOXL EHEHUDSD PHGLD� VDODK VDWXQ\D SDNDLDQ DQDN� 3DNDLDQ
DQDN�DQDN DWDX NLGV ZHDU PHUXSDNDQ VHNWRU SRWHQVLDO GDODP KDO SHUOXDVDQ SDNDLDQ
\DQJ PHQJJXQDNDQ NDLQ MXPSXWDQ� 0LQLPQ\D SHPDQIDDWDQ NDLQ MXPSXWDQ SDGD
SDNDLDQ DQDN GDQ EHOXP WHUGDSDWQ\D SDNDLDQ DQDN GHQJDQ PHQJJXQDNDQ NDLQ
MXPSXWDQ GHQJDQ SHZDUQDDQ \DQJ DODPL XQWXN DQDN� VHKLQJJD GDSDW GLMDGLNDQ
VDODK VDWX SHOXDQJ ELVQLV� 7XMXDQ GDUL SHQHOLWLDQ LQL \DLWX XQWXN PHUDQFDQJ EXVDQD
DQDN GHQJDQ SHQHUDSDQ WHNQLN MXPSXWDQ� PHPEXDW SHQJHPEDQJDQ WHNQLN
MXPSXWDQ GHQJDQ SHZDUQD DODP GDQ SHUHQFDQDDQ ELVQLV \DQJ VHVXDL XQWXN
SHOXDQJ SHQJHPEDQJDQ SURGXN NLGV ZHDU GHQJDQ WHNQLN MXPSXWDQ SHZDUQD DODP�
0HWRGH \DQJ GLJXQDNDQ GDODP SHQHOLWLDQ LQL DGDODK PHWRGH NXDOLWDWLI� 7HNQLN
SHQJXPSXODQ \DQJ GLJXQDNDQ \DLWX VWXGL OLWHUDWXU� REVHUYDVL� ZDZDQFDUD�
HNVSORUDVL GDQ PHODNXNDQ YDOLGDVL VXUYH\ NXHVLRQHU WDUJHW PDUNHW SRWHQVLDO� +DVLO
GDUL SHQHOLWLDQ LQL EHUXSD EXVDQD DQDN GHQJDQ WHNQLN MXPSXWDQ PRWLI WLWLN WXMXK�
%XVDQD DQDN GLSURGXNVL GHQJDQ PHQJJXQDNDQ SHZDUQD DODP VHFDQJ GHQJDQ
ILNVDVL WDZDV� :DUQD \DQJ GLDSOLNDVLNDQ SDGD EXVDQD DQDN \DLWX SDVWHO WRQH�
'DODP PRRGERDUG GLSLOLK NRQVHS +RSH GDQ GLSURGXNVL PHQJJXQDNDQ PHWRGH
VFDPSHU� 3HUHQFDQDDQ ELVQLV EXVDQD DQDN PHQJJXQDNDQ EXVLQHVV PRGHO FDQYDV
GHQJDQ VHPELODQ HOHPHQ \DLWX VHJPHQ JHRJUDILV� VHJPHQ GHPRJUDILV� VHJPHQ
SVLNRJUDILV� YDOXH SURSRVLWLRQ� FKDQQHOV� UHYHQXH VWUHDPV� FXVWRPHU UHODWLRQVKLS�
NH\ UHVRXUFH� NH\ DFWLYLWLHV� NH\ SDUWQHUV GDQ FRVW VWUXFWXUH�
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